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1. (14 points) Mary as a consumer is a price taker and she consumes only two goods. One good is food and
the other is “other goods.” Food is shown on her budget line as X-good. “Other goods” is shown on her

budget line as Y-good.

1) (4 points) Suppose that Mary is given by Taipei City government $3,000 worth of food coupons ( 214
%) that must be spent on food. Draw (;ﬁé?qﬁa'ﬂ) Mary’s budget lines before and after food coupon is given.
2) (4 points) Suppose that Mary is given $3,000 in cash instead of $3,000 in food coupons. How will this

alter (¢%%&) Mary’s budget line?
3) (6 points) Is Mary_indifferent (. %) between the food coupons and cash program (31, %), or does

=

she prefer one program over the other? Draw an indifference curve to illustrate (%lﬁﬂﬁﬁﬁlﬂ) your answer.

2. (12 points) Answer the following questions:

1) (6 points) The cost of producing 600 small sailboats per year and the cost of producing sails (jj**) and
fittings (fi'f) necessary to make the boats seaworthy (s iyai[iV) in a single plant are together
$780,000. If produced in separate plants, the boats would cost $540,000, and the sails and fittings would
cost $180,000. From this information, what can be learned about economies of scope in the production of
sailboats, sails, and fittings? Make any necessary calculations and explain.

2) (6 points) Davy Container Company produces egg cartons that are sold to egg distributions. Davy has
estimated this production function for its carton:

Q — 25K0.4L0.61

where Q is the output measured in one thousand carton lots, L is the labor measured in person hours, and
K is the capital measured in machine hours. Davy currently pays a wage of $10 per hour and the rental
price for capital is $25 per hour. Determine the optimal capital-labor combination (5= ﬁ) that Davy should

use in the carton production.
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3. (22 points) The market for low-level skilled labor can be described by the following demand and supply

functions, respectively:

Lp = 32,000 — 4,000W and Ls = 8,000 + 6,000W,

where Lp and Ls are the quantities of labor demanded and supplied, respectively, in millions of person
hours per year; W is the wage in dollars per hour.

1) (6 points) Calculate the equilibrium price and quantity that would exist under a free market. What is

producer’s surplus (i.e., laborer’s surplus)?
2) (6 points) The government is contemplating to set a minimum wage to $5.0 per hour. Calculate the

impact of the minimum wage on the quantity of labor demanded and supplied. What is producer’s surplus

after the proposed change?
3) (5 points) Comment (*r i) on the net effect of the proposed change upon the workers as a whole (5

j #}) and upon |nd|V|duaI workers (i H]57 ).
4) (5 points) Fae Fr ] pHR It (87 VPSR B i [ (RS (support price) - SIHIE Y
SN E i T [RL 2

4. (22 points) The Agricultural Department of a country is considering the introduction of a $0.40 subsidy
(%FPJE@ per unit to its cotton farmers. The economic advisors to the department estimate the demand and

supply function, respectively, for cotton as:
Qo = 140,000 — 25,000P and Qs = 20,000 + 75,000P,
where Qp and Qs are the quantities demanded and supplied, respectively; P is the price per unit.

1) (5 points) Calculate the consumer’s surplus and producer’s surplus in the current environment with no

subsidy.

2) (8 points) What price and quantity would prevail after the subsidy is implemented (#/%%)? What portion
(Sﬁ[ﬁ [77) of the subsidy would be gained by buyers and sellers, respectively?

3) (5 points) Calculate the new level of consumer’s surplus and producer’s surplus.

4) (4 points) Did the increase in consumer’s surplus and producer’s surplus exceed (?F, i) the increased

government spending necessary to finance the subsidy?
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5. (20 points) The Green-Energy Electric Corporation provides electric power service to a metro city. The
annual demand for electric power in this city is given by

Qb = 4,500 — 100P,
where quantity (Qp) is measured in million of kilowatt hours and the price (P) is dollar per kilowatt hour.

The firm operates in a decreasing cost industry (5% 7 Y&V~ #) (i.e., in an industry of increasing

return-to-scale, SRV IEIETAVE %),

1) (5 points) Consider the marginal cost (MC) pricing (G2 4 LEF&) If the firm’s marginal cost curve
crosses the demand curve at P = 4, what is the quantity demanded at this price? Would the firm want to
operate under the marginal cost pricing.

2) (5 points) Consider the average cost (AC) pricing (7 t595% % %I'E??)- If the firm’s average cost curve
crosses the demand curve at P = 5, what is the quantity demanded at this price? What are the firm’s profits
under the average cost pricing?

3) (10 points) | 'E%F%’I’he Green-Energy Electric Corporation%rﬁ; [*EF{ ER IFL, Jofn R B 2B e HU%FF'?
(IF=3=#the block pricing scheme) - a:ﬂ“%“ TRI& T F?, F‘J P, = $15; tfrHIF'JE'[EJ P, =$10
SR IRIE 1 Py = AC - Gl A E ORI T PIRL 2D 2 3 2 FUFOFIRERR R %) 2

6. (10 points) The city zoo’s manager recognizes that there are two distinct demand curves for zoo admission
(* #%). One demand curve applies to those age 12 to 64, while the other is for children and senior citizens.
The admission price for those age 12 to 64 is set to $42 while the price for children and senior citizens is set
to $25. The city’s market research indicates a price elasticity of demand for the higher admission price
group is -2.0, and the elasticity of demand for children and senior citizens is -4.0. Moreover, the research
suggests that both elasticities are constant over broad ranges (*-fi# i) of admissions (* BilF% Hy)

1) (6 points) Are the city zoo’s current prices optimal (f&[1v)?
2) (4 points) The zoo’s manager considers the $25 price to be necessary for children and senior citizens.
What price should the zoo set for the higher admission price group to be optimal?




